C. Y. Yeung (AL Chemistry)

F6 AL Chemistry (Tutorial 13a)

Name: _________________
Class: ________ (   )

Date: __________

1.
(a)
Adding 0.05mol of HCl to 600cm3 of pure water, pH of water changes from ____ to _____.


(b)
Adding 0.05mol of NaOH to 600cm3 of pure water, pH of water changes from ____ to _____.

2.
(a)
Calculate the pH of 0.20M CH3COOH.  (Ka = 1.70(10-5 mol dm-3)


(b)
Calculate the pH of the solution if 0.05 mol of HCl is dissolved in 600cm3 of 0.20M CH3COOH.



Since HCl is a strong acid, the solution will become very acidic.


(c)
Calculate the pH of the solution if 0.05 mol of NaOH is dissolved in 600cm3 of 0.20M CH3COOH.

3.
(a)
Calculate the pH of a buffer solution with 0.300M CH2ClCOOH and 0.200M CH2ClCOO-Na+ 


respectively.  (Ka = 1.21(10-3 mol dm-3)


(b)
Calculate the pH of the solution if 0.050 mol of NaOH is added to 600cm3 of the buffer.


(c)
Calculate the pH of the solution if 0.05 mol of HCl is added to 600cm3 of the buffer.

4.
To summarize the result of Q.1, 2 and 3:

	
	original pH
	after added 0.05mol NaOH
	after added 0.05mol HCl

	Pure water (600cm3)
	
	
	

	CH3COOH (600cm3)
	
	
	

	CH2ClCOOH/CH2ClCOO-Na+

buffer solution
	
	
	



The pH of CH2ClCOOH / CH2ClCOO-Na+ buffer solution is more __________________ to addition of 
alkali or acid. For the non-buffered acid solution, they do not contain ___________________________


to absorb the extra _________, addition of alkali will cause a big change in ____________________, 
resulting in a relatively big pH change.
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